


1200 — 1,121 1,104 1,110 1,110 1,135 1,116 1,159
: 1,022




m & (HB9A)

108

200
17%

43
4% 2% 3%




0N

= D4R

{5 5%

90

8

019

023 1

033 1

1,032 1

006

93

983 1

976

12

1,200

1,000

800

600

400

200

H24  H25 H26 H27 H28 H29 H30 R1 R2

H23

R2

R1

H23 H30

R2

R1

H23 H30










X
—
—




THTEESAMEN L[ REAWMEFHR(FTS)]




JIIBEHERY—ERRT—2300




#hrh B B lm D &

10



BABEOZRAREORESE

11



N K ex O = 57 an b D &

12



3, 944+ H

13



MK X SR E F 3

14



e =6 30, 803F+H

15



EERRAT D H#E

N—bF—2 v T BZRIE[FHR]

16



9V)—Y—1) X LIPS DE i 35, 040+ H

REAT—aEEEEEFEREIIE] (BEHFEHETH)




e
AV EYIRESEDHE

18



19




LN ENE P D e €5 132, 500+ H

Mkl TI0BEE ESZEZE R IBA L TRV == DER 23, 652FH

20



